# On unit-regular rings. 

Grigore Călugăreanu *†才


#### Abstract

Among regular rings, unit-regular rings are characterized by complementary idempotents of isomorphic idempotents being also isomorphic. We give a ring theoretical proof of this result (the only existing proof uses internal cancellation for modules). Moreover, we improve (and simplify) another characterization of unit-regular rings given by Camillo and Khurana in [1].


## 1 Introduction

A ring with identity $R$ is called unit-regular if for every element $a \in R$ there is a unit $u$ with $a=a u a$.

In regular endomorphism rings of modules, unit-regularity was characterized in the 70's (Ehrlich-Handelman), by a property called internal cancellation. Using this, they were able to obtain the following characterization: let $R$ be a regular ring. $R$ is unit-regular if and only if for every idempotents $e, e^{\prime} \in R$, $e \cong e^{\prime}$ implies $1-e \cong 1-e^{\prime}$.

Since this is the only existing proof (via modules), in this short note, we supply a (direct) ring theoretical proof.

Notice that something similar was done by W. Murray, T. Y. Lam in [4] (1997), where a direct proof for "a corner ring of a unit-regular ring is also unit-regular" was given.

Moreover, we improve and simplify another characterization of unit-regular rings, given by V.P. Camillo and D. Khurana (see [1]).

Rings are associative with identity and, for an idempotent $e, \bar{e}=1-e$ denotes the complementary idempotent. The set of all the units of a ring $R$ is denoted by $U(R)$.

## 2 Isomorphic idempotents

Definition 1 Two idempotents $e, e^{\prime}$ in a ring $R$ are isomorphic if $e R \cong e^{\prime} R$ as right $R$-modules.

[^0]Equivalently, two idempotents are isomorphic, $e \cong e^{\prime}$ if and only if there exist $a, b \in R$ such that $e=a b$ and $e^{\prime}=b a$.

The key result is the following
Lemma 2 Let $e$ and $e^{\prime}$ be isomorphic idempotents in a ring $R$ and $e=a b$, $e^{\prime}=b a$ for elements $a, b \in R$. If $b a b=(b a b) u(b a b)$ holds for a unit $u \in U(R)$ and $c=\left(1-u e^{\prime} b\right) u\left(1-e^{\prime}\right), d=\left(1-e^{\prime}\right) u^{-1}(1-e)$ then $c d=1-e$ and $d c=1-e^{\prime}$.

Proof. By left and right multiplication with $a$, from $b a b=(b a b) u(b a b)$, we obtain $a b=a b u b a b$ and $a b a=a b u b a$. From the first we derive $e\left(1-u e^{\prime} b\right)=0$ or $(1-e)\left(1-u e^{\prime} b\right)=1-u e^{\prime} b$. From the second we deduce $\left(1-u e^{\prime} b\right) u e^{\prime}=$ $u b a-u b a b u b a=u b a-u b a b a=u b a-u b a=0$.

Thus

$$
c d=\left(1-u e^{\prime} b\right) u\left(1-e^{\prime}\right) u^{-1}(1-e)=\left(1-u e^{\prime} b\right)\left[1-e-u e^{\prime} u^{-1}(1-e)\right]=
$$

$$
=1-e-u \underline{e^{\prime} b}(1-e)-\left(1-u e^{\prime} b\right) u e^{\prime} u^{-1}(1-e)=1-e-0-0=
$$

$$
=1-e \text { because } e^{\prime} b=b e
$$

Finally,

$$
\begin{aligned}
& d c=\left(1-e^{\prime}\right) u^{-1}(1-e)\left(1-u e^{\prime} b\right) u\left(1-e^{\prime}\right)=\left(1-e^{\prime}\right) u^{-1}\left(1-u e^{\prime} b\right) u\left(1-e^{\prime}\right)= \\
& =\left(1-e^{\prime}\right) u^{-1}\left[\left(1-u e^{\prime} b\right) u-\left(1-u e^{\prime} b\right) u e^{\prime}\right]=\left(1-e^{\prime}\right) u^{-1}\left(1-u e^{\prime} b\right) u= \\
& 1-e^{\prime}-e^{\prime} b u+e^{\prime} b u=1-e^{\prime} . \square
\end{aligned}
$$

Having proved this, we can now give a ring theoretical proof for
Theorem 3 (Ehrlich, Handelmann) A regular ring $R$ is unit-regular if and only if for every two idempotents, $e \cong e^{\prime}$ implies $1-e \cong 1-e^{\prime}$.

Proof. If $e \cong e^{\prime}$, there are elements $a, b \in R$ with $e=a b, e^{\prime}=b a$. Choose $u \in U(R), c$ and $d$ as in the previous Lemma. Then $c d=1-e$ and $d c=1-e^{\prime}$ and so $1-e \cong 1-e^{\prime}$. Conversely, let $a \in R$ be an arbitrary element. Since the ring is supposed to be regular, there is an element $x \in R$ such that $a=a x a$. Without restriction of generality, we can assume that also $x a x=x$. Clearly, $a x$ and $x a$ are isomorphic idempotents in $R$. Hence there exist elements $c, d \in R$ such that $1-a x=c d$ and $1-x a=d c$. By left and right multiplication with $a$ and $x$, respectively, we obtain $c d a=0=a d c$ and $x c d=0=d c x$. Now consider $u=x+d c d$ and $v=a+c d c$. It is readily checked (notice that both $c d$ and $d c$ are idempotents) that $a=a u a$ and $u v=1=v u$, that is, $u \in U(R)$, as desired.

In [1] (2001), V.P. Camillo and D. Khurana proved the following,
Theorem $4 A$ ring $R$ is unit regular if and only if for every $a \in R$ there is a unit $u \in U(R)$ and an idempotent $e$ such that $a=e+u$ and $a R \cap e R=0$.

While trying to give a ring theoretical proof which shows these conditions are necessary (the existing proof uses again internal cancellation for modules), it turned out that this characterization can be improved (simplified) as follows

Theorem $5 A$ ring $R$ is unit regular if and only if for every element $a \in R$ there is a unit $u \in U(R)$ such that aR $\cap(a-u) R=0$.

Proof. First notice that if $e \in R$ is an idempotent in a ring $R$ then $e R \cap a R \subseteq$ $e a R$ for every $a \in R$, and, if $e a=0$ then $e R \cap a R=0$.

If $R$ is unit regular, for every $a \in R$ there is a unit $u \in U(R)$ such that $a=a u^{-1} a$. Thus $a u^{-1}(a-u)=0$ and since $a u^{-1}$ is an idempotent, $a u^{-1} R \cap$ $(a-u) R=0$. Finally, since $a R=a u^{-1} u R \subseteq a u^{-1} R$ we obtain $a R \cap(a-u) R=0$ (obviously $a u^{-1} R \subseteq a R$ and so actually $a u^{-1} R=a R$ ). Conversely, let $a \in R$ and $u \in U(R)$ with $a R \cap(a-u) R=0$. Computing $a u^{-1}(a-u)=(a-$ $u+u) u^{-1}(a-u)=(a-u) u^{-1}(a-u)+a-u \in a R \cap(a-u) R$, we obtain $a u^{-1}(a-u)=0$ and hence $a=a u^{-1} a$.

Remarks. 1) Another proof can be given using: $R$ is unit regular if and only if for every $a \in R$ there is a unit $u \in U(R)$ and an idempotent $e$ such that $a=e u$. Then $a-u=e u-u=(e-1) u$ and so $e(a-u)=0$. Therefore, $e R \cap(a-u) R=0$, and, since $a R=e u R \subseteq e R$, this gives $a R \cap(a-u) R=0$. Conversely, suppose that for an element $a \in R$ there is a unit $u \in U(R)$ such that $a R \cap(a-u) R=0$. We consider $e=a u^{-1}$ for which clearly $a=e u$ and we check $e$ is an idempotent. Indeed, computing $e(a-u)=\underline{a} u^{-1}(a-u)=$ $(a-u+u) u^{-1}(a-u)=\underline{(a-u)} u^{-1}(a-u)+\underline{a-u} \in a R \cap(a-u) R$, we obtain $e(a-u)=0$. By right multiplication with $\overline{u^{-1}, \text { this finally gives } e(e-1)=0}$ or $e^{2}=e$.
2) The (necessary and sufficient) conditions of Camillo-Khurana's characterization, can be reformulated as follows: for every element $a \in R$ there is a unit $u \in U(R)$ such that $a R \cap(a-u) R=0$, and $a-u$ is an idempotent. According to our previous Theorem, the bold part is superfluous. Hence

Corollary 6 Let $R$ be a unit regular ring and $a \in R$ an arbitrary element. According to the previous Theorem, there are units $u \in U(R)$ such that aR $\cap$ $(a-u) R=0$. Among all these units, we can always choose $a$ unit $w \in U(R)$ such that $a-w$ is an idempotent.

## References

[1] Camillo V.P., Khurana D. A characterization of unit-regular rings. Comm. Algebra 29 (5) (2001), 2293-2295.
[2] G. Ehrlich. Units and one-sided units in regular rings. Trans. A.M.S. 216 (1976), 81-90.
[3] Handelman D. Perspectivity and cancellation in regular rings. J. Algebra 48 (1977), 1-16.
[4] Lam T.Y., Murray W. Unit-regular elements in corner rings. Bull. Hong Kong Math. Soc. 1, No. 1 (1997), 61-65.


[^0]:    *Mathematics Subject Classification: Primary 16U99, Secondary 16E50
    ${ }^{\dagger}$ Address: Babeş-Bolyai University, Cluj-Napoca, Romania
    ${ }^{\ddagger}$ Key words: unit-regular rings, complementary idempotents

